clear
‘ose all
et

%Problem 1

num=[-5 0 0] ;den=[5 253 20000];
sys=tf (num, den)

$Transfer function:

% -5 872

%5 g2 + 253 5 + 20000
f=0:.01:50;

wmltpief

bode (sys, w)

¥Problem 2

chareg=den/5s

%¥chareq =

£ 152 + 50.6 8 + 4000 —

$Problem 3
p=pole{sys]
ip =

% =253 57.96473065580481
3 il R 57.96473065580481

$Problem 4
tMetheod 1

damp (sys)

e Eigenvalue

-2.53e+001 + 5.80e+0011 4.00e-001
v =2.53e+001 - 5.80e+001i 4.00e-001

$Method 2
wnr=sgrt (4000)
%In Radians/Sec

Fwnr =

% 63.2455532033676
z=50.6/ (2*wnr)

¥z =

% 0.4000281240113
$Problem 5

wnhewnr/ (2%pi)

%In Hz

fwnh =

% 10.0658424208974
$Problem &
fregresp(sys,20%2%pi)

fans =

% -1.03752137764646 -

resp=fregrespisys,w);
Resp{l, :)=resp{:,:,:);
figure(2)
subplot{2,1,1)
semilogx (£, 20%logl0 (abs (Resp) ) )
grid on

abel {'Frequency (Hz)')
—_-abel {'"Magnitude (dB)')

semilogxtf,[lﬂufpif*angle{Resp]}

grid on
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